## Informational Report for the June 16, 2015 Board of Trustees Meeting

				New Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
Chabot College - Cor	mmunity Educat	ion									
Arnott	Heidi	E.	Chabot	No	Teach musical theater to Community Education students	Community Education	\$ 25.00	7	\$ 175.00	6/15/2015	6/30/2015
Campbell	Arvanderlyn	R.	Chabot	No	Teach foreign languages to Community Education students	Community Education	\$ 35.00	47	\$ 1,645.00	6/15/2015	4/9/2015
Goldsmith	Ashley	R.	Chabot	No	Teach math, foreign languages and science classes for Kids on Campus Program	Community Education	\$ 35.00	60	\$ 2,100.00	6/15/2015	7/9/2015
Iglehart	Sandra	K.	Chabot	No	Teach piano to Community Education students	Community Education	\$ 41.00	7	\$ 287.00	6/22/2015	6/30/2015
lp	Angela	C.	Chabot	No	Provide service as Campus Counselor for Kids on Campus Program	Community Education	\$ 10.00	110	\$ 1,100.00	6/8/2015	7/9/2015
Kolm	Brian	M.	Chabot	No	Teach art classes for Kids on Campus Program	Community Education	\$ 30.00	19	\$ 570.00	6/15/2015	7/9/2015
Powell	Megan	E.	Chabot	No	Teach art and science classes for Kids on Campus Program	Community Education	\$ 25.00	60	\$ 1,500.00	6/8/2015	7/9/2015

#### Informational Report for the June 16, 2015 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Yee	Jennifer	P.	Chabot	No	Provide service as Campus Counselor for Kids on Campus Program	Community Education	\$ 10.00	110	\$ 1,100.00	6/8/2015	7/9/2015
Chabot College											
Davis	Paris	D.	Chabot	Yes	Work as a Project Aide for the disadvantaged youth summer sports program	Special Programs & Services	\$ 13.65	120	\$ 1,638.00	6/12/2015	7/30/2015
Gonzalez Flores	Karla	E.	Chabot	Yes	Work as a Project Aide for the disadvantaged youth summer sports program		\$	120	\$ 1,638.00	6/12/2015	7/30/2015
Schwer	Katherine	L.	Chabot	No	Provide accommodations as a reader for the Disabled Student Programs and Services	Disabled Student Programs and Services	\$ 20.00	390	\$ 7,800.00	3/16/2015	6/30/2015
		<u> </u>									
Las Positas College	- Community Ed	lucatio	on 		Teach theater to						
Morgan	Wesley	E.	Las Positas	No	Community Education students	Community Education	\$ 30.00	50	\$ 1,500.00	6/1/2015	6/30/2015
Morgan	Wesley	E.	Las Positas	No	Teach theater to Community Education students	Community Education	\$ 30.00	50	\$ 1,500.00	7/1/2015	12/30/2015

## Informational Report for the June 16, 2015 Board of Trustees Meeting

First Name	МІ	Site	New Emp to District	Duties	Division		Hourly Rate	Maximum		Maximum Amount	Assign Beg. Date	Assign End Date
				Tarah autta								
Rostum	N.	Las Positas	Yes	Community Education Students	Community Education	\$	30.00	50	\$	1,500.00	8/1/2015	12/31/2015
Matthew	W.	Las Positas	Yes	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$	25.00	30	\$	750.00	5/21/2015	6/30/2015
Abbey	M.	Las Positas	No	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$	25.00	30	\$	750.00	5/21/2015	6/30/2015
Gregory	S.	Las Positas	Yes	Provide support and monitor completion of program for Veterans enrolled in the Engineering Pathways Program	Career and Technology Education	\$	45.00	125	\$	5,625.00	6/1/2015	6/30/2015
Ryan	E.	Las Positas	Yes	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$	25.00	30	\$	750.00	5/21/2015	6/30/2015
	Rostum  Matthew  Abbey  Gregory	Rostum N.  Matthew W.  Abbey M.  Gregory S.	Rostum N. Las Positas  Matthew W. Las Positas  Abbey M. Las Positas  Gregory S. Las Positas	Rostum N. Las Positas Yes  Matthew W. Las Positas Yes  Abbey M. Las Positas No  Gregory S. Las Positas Yes	First Name MI Site District Duties  Teach art to Community Education Students  Provide program skills coordination for the Paramedic Program  Abbey M. Las Positas No Provide program skills coordination for the Paramedic Program  Provide program skills coordination for the Paramedic Program  Provide support and monitor completion of program for Veterans enrolled in the Engineering Pathways Program  Provide program skills coordination for the Paramedic Program Provide program skills coordination for the Paramedic Program Skills coordination for the Paramedic	First Name MI Site District Duties Division    Rostum	First Name MI Site District Duties Division  Rostum N. Las Positas Yes Teach art to Community Education Students  Provide program skills coordination for the Paramedic Safety \$  Provide support and monitor completion of program for Veterans enrolled in the Engineering Pathways Program Science, Technology Education \$  Gregory S. Las Positas Yes Pathways Program Science, Technology Education \$  Science,	First Name MI Site District Duties Division Hourly Rate    Rostum	First Name MI Site District Duties Division Maximum  Rostum N. Las Positas Yes Teach art to Community Education Students Education \$30.00 50  Matthew W. Las Positas Yes Provide program skills coordination for the Paramedic Program Science, Technology, Engineering, Math & Public Safety \$25.00 30  Abbey M. Las Positas No Provide program skills coordination for the Paramedic Program for Veterans enrolled in the Engineering Pathways Program Science, Technology Safety \$25.00 30  Gregory S. Las Positas Yes Provide program skills coordination for Veterans enrolled in the Engineering Pathways Program Science, Technology Education \$45.00 125  Provide program skills coordination for the Paramedic Math & Public Math & Public Program Skills coordination for the Paramedic Math & Public Paramedic Paramedic Math & Public Paramedic Math & Public Paramedic Math & Public Paramedic Math & Public Paramedic Parameter Pa	First Name MI Site District Duties Division Hourly Rate Maximum    Rostum N.   Las Positas   Yes   Teach art to Community Education Students   Education Students   Education   \$30.00   50   \$	First Name MI Site Duties Division Hourly Rate Maximum Amount  Rostum N. Las Positas Yes Education Students Education \$ 30.00 \$ 50 \$ 1,500.00  Matthew W. Las Positas Yes Program skills coordination for the Paramedic Program skills coordination for the Paramedic Math & Public Safety \$ 25.00 \$ 30 \$ 750.00  Abbey M. Las Positas No Program Safety \$ 25.00 \$ 30 \$ 750.00  Provide support and monitor completion of program for Veterans enrolled in the Engineering Math & Public Safety \$ 25.00 \$ 30 \$ 750.00  Provide support and monitor completion of program for Veterans enrolled in the Engineering Education \$ 45.00 \$ 125 \$ 5,625.00  Provide program skills coordination for the Provide program skills coordination for the Paramedic Math & Public Safety \$ 25.00 \$ 30 \$ 750.00  Provide support and monitor completion of program for Veterans enrolled in the Engineering Education \$ 45.00 \$ 125 \$ 5,625.00  Provide program skills coordination for the Paramedic Math & Public M	First Name MI Site Division Bound Maximum Assign Amount Beg. Date    Rostum N.   Las Positas   Yes   Teach art to Community Education Students   Education Students   Education Students   Education   \$30.00   50 \$1,500.00   8/1/2015

## Informational Report for the June 16, 2015 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hou R	ırly ate		Maximum Amount	Assign Beg. Date	
D: 0												
District Services												
Bailey	Beverly	F.	District	No	Provides special project services, as needed, for the Board of Trustees and Chancellor	Chancellor's Office	\$ 50	0.00	650	\$ 32,500.00	7/1/2015	12/31/2015
Castaneda	Christian	A.	District	No	Provide support for the operations of the Workforce Investment Act	Tri-Valley One Stop	\$ 27	.00	200	\$ 5,400.00	5/7/2015	6/30/2015
Milanese	Donald	R.	District	No	Supports special assignments and projects including Collective Bargaining Agreement negotiations	Human Resources	\$ 100		25	\$ 2,500.00	5/20/2015	6/30/2015